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= 6,000 0 6,000
Al 1,000 1,000 0
- 381,062 415,946 N 34,884
EXNHF AHIA 23 425,162 419,279 5,883
= 118,626 118,626 0
£ 6,000 0 6,000
Al 1,000 1,000 0
T 299,536 299,653 A7
T2Y F=AAMYS IS 130,065 124,065 6,000
= 6,000 0 6,000
Al 1,000 1,000 0
T 123,065 123,065 0
C2Y ¥ ASHSRHAIY 124,065 118,065 6,000
= 6,000 0 6,000
T 118,065 118,065 0
401 Al & HIZ 2 0HHI 83,000 77,000 6,000
= 6,000 0 6,000
T 77,000 77,000 0
01 Al£Hl 83,000 77,000 6,000
OEzgE 44X Z3& 21,000,000& 21,000 15,000 6,000
= 6,000 0 6,000
T 15,000 15,000 0
L #F e 40,328 40,445 A7
FSMSHE A 22 XJ 11,360 11,495 A 135
201 et A 10,860 10,995 A 135
01 At 22l Hl 10,860 10,995 A 135
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-JtEZelH 23 2,064,700 2,065 2,200 2135
ANESEQRAN 2 438 420 18
201 et A 438 420 18
02 3323l 438 420 18
(@FSPIE==; Z 3 438,000& 438 420 18
HY2LIH(EXNZED) 77,270 112,270 235,000
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JI2ZH(EXNFE L) 77,270 112,270 235,000
202 044l 45,640 80,640 35,000
01 S LHOHI 45,640 80,640 35,000
OJ2YR =& EZ0H ZE 45,640,000 45,640 80,640 A 35,000
HRes(EXNFE) 4,256 4,023 233
BEXNE(EXNFZ D) 4,256 4,023 233
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